

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt .Collage Bharatpur

Academic Year: 2018-19

Government of Chhattisgarh

Sanction Number

N/8/4403/1/9/92299

Sanction Date:

05/06/2019

Applications Type: Fresh

1099090 RAJKUMAR NOSURNAME	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1889	1889
1592598 RAJENDRA KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1589	1589
1592659 DEVKI AHIRWAR	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1589	1589
1592687 JAGRITI ARHIRWAR	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1589	1589
1596079 SHARDA RATREY	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1589	1589
					Total:	15000	0	8245	8245

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or acce any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

(Signature & Seal of Head of the Institution) Name (Capital Leters)

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt .Collage Bharatpur

Academic Year: 2018-19

Government of Chhattisgarh

Sanction Number: N/8/4403/2/7/92297

Sanction Date

Applications Type: Fresh

								The state of the s	TENT THE ATT	and the stand
1537443 SURENDRA KUMAR	Male	B. Sc./Science/I	Fresh	10	300	3000				
1589693 SHAHIL SINGH	Male	B. A./Arts/I	Fresh	10	300		0	1589	1589	4589
1592143 RAM PAL	Male	B. A./Arts/I				3000	0	1589	1589	4589
V 207			Fresh	10	300	3000	0	1589	1589	4589
1592518 NAMRATA SINGH	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1589	1589	4589
1592526 SURAJ PAL	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1589		
1592672 ARCHANA SINGH	Female	B. Sc./Science/I	Fresh	10	300	3000			1589	4589
1594328 BASANT KUMAR	Male	B. A./Arts/I	Fresh				0	1589	1589	4589
1594386 HEERA SINGH				10	300	3000	0	1589	1589	4589
	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1589	1589	4589
1595999 SARITA SINGH	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1589	1589	4589
1596878 LAL BAHADUR	Male	B. Sc./Science/I	Fresh	10	300	3000	0			
							U	1589	1589	4589
					Total:	30000	0	15890	15890	45890

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & Seal of Renal hand indication) Name (Capita College

JANAKPLIR, Koreal G.G.

Scholarship Scheme: Post Matric OBC Scholarship

OBC Category:

Institute Name: Govt .Collage Bharatpur

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4/403/3/10/92301

Sanction Date

Applications Type

Eroch	
Fresh	

ction 10 Student Name		Collin	Type							
1528234 GULSHAN KEWAT	Female	B. Sc./Science/I	Fresh	10	70	700	0	1589	1589	22
1592024 PRIYA NAMDEV	Female	B. Sc./Science/I	Fresh	10	70	700	0	1589	1589	22
1592191 SHANTOSHI PRAJAPATI	Female	B. Sc./Science/I	Fresh	10	55	550	0	1589	1589	2:
1592415 RAMESH KUMAR	Male	B. A./Arts/I	Fresh	. 10	55	550	0	1589	1589	2
1592631 RISHI- KUMAR	Male	B. Sc./Science/I	Fresh	10	55	550	0	1589	1589	2
1592643 KAMAL PRASAD	Male	B. A./Arts/I	Fresh	10	55	550	0	1589	1589	2
1594551 POOJA YADAV	Female	B. Sc./Science/I	Fresh	10	70	700	O,	1589	1589	2
1596037 RAJENDRA PRASAD	Male	B. Sc./Science/I	Fresh	10	55	550	0	1589	1589	2:
1613450 AASHISH KUMAR MOURYA	Male	B. A./Arts/I	Fresh	10	75	750	0	1589	1589	_ 2:
1010.00 /1.0					Total:	5600	0	14301	14301	19

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date: Name (Capital Leter Coing)

CLANAX PUR KORMIC.CL

This Sanction is generated by Scholarship Portal. Printed on 6/5/2019

Scholarship Scheme

570206 RAJENDRA PRASAD

1189795 RAKESH KUMAR

1549030 KRISHAN KUMAR

1592816 NARENDRA KUMAR

1273192 SUNDAR LAL

Post Matric SC Scholarship

Male

Male

Male

Male

Male

Category

Institute Name

Govt .Collage Bharatpur

Academic Year: 2018-19

SC

Government of Chhattisgarh

Sanction Number

R/8/4403/1/9/92300

Sanction Date

Applications Type: Renewal

3000 0 1889 1889 48					
3000 0 1889 1889 48		Bon Pas Of	har Fee To		
	3000	0	1889	1889	4889
3000 0 85 85 30	3000	0	1889	1889	4889
	3000	0	85	85	3085

1589 4589 3000 1589 300 1589 1589 4589 3000 300 7041 22041 15000 7041 Total:

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

10

10

10

10

10

Renewal

Renewal

Renewal

Renewal

Renewal

300

300

300

Place: Date: (Signature & Seal of the Control of

Name (Capital Leters): Colluge MANER OF ST. KORENC.QI

B. Sc./Science/III

B. Sc./Science/III

B. Sc./Science/II

B. A./Arts/III

B. A./Arts/II

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt Collage Bharatpur

Academic Year: 2018-19

Government of Chhattisgarh

Sanction Number

R/8/4403/2/7/92298

Sanction Date

Applications Type: Renewal

	Cente			HOLD MADE			C. D. Deller Communication of the Communication of				
196763 PRIYANKA MAWASI	Female	P. Co. /Colon as /III					interience i i			icas far	
974981 ABHILASHA LAKRA	Female	B. Sc./Science/III	Renewal		10	300	3000	0	1889	1889	400
1176521 NIRMALA SINGH		B. Sc./Science/III	Renewal		10	300	3000	0	1889		488
1302344 SHALINI BAIGA	Female	B. Sc./Science/III	Renewal		10	300	3000	0	1889	1889	488
1308011 GANNU SINGH	Female	B. Sc./Science/III	Renewal		10	300	3000	0		1889	488
	Male	B. Sc./Science/III	Renewal		10	300	3000		1889	1889	4889
1588811 ROOPA BAIGA	Female	B. A./Arts/III	Renewal		10	300	3000	0	1889	1889	4889
1592367 KRANTI SINGH Fe	Female	B. Sc./Science/II	Renewal		10	300		0	1889	1889	4889
						Total:	3000	0	1589	1589	4589
						rotal ;	21000	0	12923	12923	33923

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & Seal of Ring (Signature & Seal of Ring) Name (Cappallate in want College

PLANAPPLIE KOREICA

Post Matric OBC Scholarship Scholarship Scheme:

Category

Govt .Collage Bharatpur Institute Name:

State

Government of Chhattisgarh

Sanction Number

R/8/4403/3/10/92302

Sanction Date

Applications Type: Renewal

Academic Year: 2018-19			PODESTA TOTAL STATE OF THE							
1592390 KIRAN MOURYA	Female	B. A./Arts/III	Renewal	10	85 Total :	850 850	0	1889 1889	1889 1889	2739 2739

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head PRINCEPUL)

Place:

Date:

Name (Capital Let College College QUANGEPUR, KOTOMC.O.

Government of Chhattisgarh

R/8/4403/1/9/92300 Sanction Number

Sanction Date

Applications Type: Renewal

				3000	0	1889	1889	4889
B. Sc./Science/III	Renewal	10	300	3000	o .		1000	4889
	Renewal	10	300	3000	0	1889	1889	
B. A./Arts/II			300	3000	0	85	85	3085
B. Sc./Science/III	Renewal	10	300			1500	1589	4589
	Renewal	10	300	3000	0	1589	1309	
B. Sc./Science/II			300	3000	0	1589	1589	4589
B. A./Arts/III	Renewal	10	300		111111111111111111111111111111111111111	70.44	7041	22041
			Total:	15000	0	7041	7041	22011

ntitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online heet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the e subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts mmediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seal of He RAINCHStriktion)
Name (Capital Lagsshamman Colleges Colleges

Page 1/1

Post Matric Sc

Govt Collage 2018-19

is institution an

oning a sum of t entied copy of man

in he office and wa

bend the fact will be

RASAD

This Sanction is generated by Scholarship Portal, Printed on 6/5/2019